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Gabarito — Lista de Exercicios 3
4 3 0 0 2 70 Energia Eletrostatica,

Potencial Elétrico

E3.1 U = —4,35x10718 J = —27,2 ¢V.
E3.2 U = 8,98 MJ.
E3.3 U =1,5x10"1J =0,96 MeV.
E3.6 U = 6,5 puJ.

E3.11 (A)35J/C; (B)38J/C.

E3.12 Sejam () e @ a carga total e o raio da esfera. Usando a lei de Gauss:

4Q —, parar >a,
E(T’) = 750 TT'
prn:L parar < a.
Assim, R
V(R):—/E-ds:—/ E(r)dr
Para R > a: n
B Q dr  Q
V(R) = dmey Joo T2 AmeR’
Para R < a:
V(R) = - Q /adr_ Q [frdr _ Q 1+a2—R2
dmeg Joo T2 4meq J, ad dTega 2a2 '
(A) V(R=a=5,0cm) = @ =540V;
dmepa

2 p2
(B) V(R=20 cm<a) = ¢ <1+ @ — R ) — 767 V.

Teoa 2a2
E3.14 E(z) = —2azz,para |z| < L,e E(z) =0, para |z| > L.
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P34 U =

- 8meg Ri1Ry
P3.5 5,9x107 m/s.
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